
Time: 10 Minutes Paper Math 2 Total Marks: 10

2nd Month, 1st Week, 4th Day Page # 40 + Review Exercise Q # 12

Q.1. Choose the correct options. (1×4=4)

ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) 25 + 0 = __________:

(a) 250 (b) 205 (c) 25 (d) 0

(ii) 100 + 10 = __________:

(a) 1000 (b) 101 (c) 100 (d) 110

(iii) When adding 3-digit numbers, first add the __________:

yyyyÏÏÏÏZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃ¦¦¦¦™™™™DDDD÷÷÷÷¬¬¬¬''''''''¦¦¦¦™™™™DDDD÷÷÷÷XXXX 3ZZZZ####

(a) Ones Z»×V (b) Tens Š;×V

(c) Hundreds %} (d) Carrying digit qÝhezZÑy�

(iv) When adding 3-digit numbers, finally add the__________:

yyyyÏÏÏÏZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃ¦¦¦¦™™™™DDDD÷÷÷÷WWWWyyyy~~~~¦¦¦¦''''''''™™™™DDDD÷÷÷÷XXXX 3ZZZZ####

(a) Ones Z»×V (b) Tens Š;×V

(c) Hundreds %} (d) Carrying digit qÝhezZÑy�

Q.No.3: Solve mentally. (1×6=6) ÕÕÕÕiiiiÐÐÐÐiiii™™™™,,,,XXXX 6666ffff

(i) 23 + 15 =                        (ii) 14 + 12 =                        

(iii) 20 + 11 =                        (iv) 30 + 20 =                        

(v) 10 + 12 =                        (vi) 42 + 7 =                        
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